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Hwpnwl PwpwjwOh Ynnohg Ghplujwgdwsé hwjnbipp nbfubhywwtu L npwlwuwbu qGwhwunb)
pwywpuwp:
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Pwpdp Gupdwl hnnpuyM :
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102 e J . - 29000 29000
wndwHLW 32-D3 /wy/ huitn
103 | Uuwhbs /pwtinud/ hwwn £ < 30000 | 30000
104 | hunniyghnt  Yn6s hwtn - - 19500 | 19500
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hwywpwdnt wadnt
15 2ph  thnnpuljutiph bwlwp - - 12000 12000
hwlwpwdnt wont
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116 | Unpnguwl hwlwp - - 9000 9000
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hwywpwdnt wadnt
18 | &nl -1650 - - - 36000 36000
"9 | &nly-1103 ol - - 20000 20000
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125 Ywpnwuh fuwsny hwwn - - 35000 35000
126 Ygnpndwt ulwdwnwy hww - - 60000 60000
b : ; 32500 | 32500
wnwugpwluy hwwn
Ygnpndwu ubndn
128 B EHNEO S =L e i - S 25000 | 25000
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129 | Unguh quuuwl/ ntuunp/ hwwp i i 86000 86000
hwywpwdnt wont
130 | <twnlh quuw/ nbuunp/ hwywp . 4 74000 74000
hwdwpwdnt woni
Pwpdp 6updwu  thnnpuy
131 L PR i § 1 3
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132 MR QRN nn " B
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133 Pwpép Guodwl thnnpul 1d i 1 36000 36000
M:16 hwwn
Pwpsp Gupdwu thnnpul
134 ndp bzuu n - - 40000 | 4000
1,45 M : 16 hwn 0
135 | Pwpdp €updwtu  thnnpwly 24 i . 18000 18000
M:16 hwun
Pwpép Gugdwl thnnpuy
136 pap alzuw nn _ - )
1,20 M : 16 hwuwn - i
Pwpap tupdwl wndw HL-
137 npan aluwl wnuy B - 0000 0
50 /dwu/ hwn i Ll
138 <pnpwyihy aninh - fugny hwywp _ _ 36000 36000
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140 <hnpwythly dninh - fugnty hwjwp ) _ 32000 32000
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Swipuwlu hwuwn _
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153 | unpnguwt hwywp - - 7200 7200
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159 | bndwypbunp hwn - - 27000 27000 - -
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